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Name
Chennistry .
Stoichiometry
Particles #2

e In the following reactions:
o Complete the reaction(tr anslate and predict products)

o Determine amount of each reactant and product
o Use Correct Significant figures (Muitlphcatmn/Dwmon

sigfigs)

use smallest # of

1. 502300000 molecules of Heptane (C7Hjs), the basic component of gasoline

burns completely in excess Oxygen
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Name
Chemistry
Stoichiometry
Particles, Limiting and Excess #1

Review
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Foz the following problems defermine the “?”, limiting and excess. Balance and determine products as
needed. {(Show all work)
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NAME
CHEMISTRY

Moles Limiting and Excess #1

What are the two factors that affect which substance will be the limiting reactant?
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If needed, what is the general 1 method one useg to solve for the limiting reactant?
- of each ot ok
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Determine the “77, Limiting and excess for the following reactions. Complete the
product and balance where necessary. z
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Name
Chemistry
Stoichiometry
Molar Mass #1

e Mass is a means to measure number of particles.
"« The only mathematical operation that can be performed on mass 15 (0 convert
to moles. .
s Mass is deceiving
e 207gPb=2g H, This have the same number of particles, I mole.

{/\”[Uz av7  Aafe S Is the mass of one mole of any chemical substance.
2. In order to calculate the mass of one mole of a compound one should add up the
/_,Lé‘zz;yur Frifss LN J‘;’Eh of each of the elements present in the

compound.
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Compute the molal mass of the following. o g
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NAME
CHEMISTRY
MOLES AND MOLAR MASS
MOLAR MASS #2

amole= (e DL ¥AO®

1
2. The molar mass is the A7 #.550f one mole. .
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4. The molar mass of a compound is the F¥385%0f all the atomic masses of each element present.
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NAME
STOICHIOMETRY
Mass, Limiting and Excess #1

Note: 1 mole of any gas = 22.4 L. of Volume at STP
IN THE FOLLOWING PROBLEMS DETERMINE THE FOLLOWING

¢« BALANCE REACTION

¢ ANSWER ? IN CORRECT UNITS

¢ DETERMINE LIMITING REAGENTS
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NAME
STOICHIOMETRY
Mass, Limniting and Excess #2

IN THE FOLLOWING PROBLEMS DETERMINE THE FOLLOWING:
» BALANCE REACTION

*  ANSWER “?” IN CORRECT UNITS

+ DETERMINE LIMITING REAGENTS

+ DETERMINE AMOUNT OF EXCESS IN GRAMS

}
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